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1 Introduction
In RAN2 #101bis meeting, how to toggle the RDI was discussed. In this contribution, some considerations on ACK of RDI will be provided.
2 Discussion
· What’s the benefit of ACK for RDI?

According to the SDAP specification [1], for each received DL SDAP PDU with RDI set to 1, the SDAP entity shall process the QFI field in the SDAP header and determine the QoS flow, and store the QoS flow to DRB mapping of the DL SDAP PDU as the QoS flow to DRB mapping rule for the UL. If the RDI is set to 0, no action is needed in UE for the Reflective mapping. Therefore, the gNB will set the RQI to1 if it wants to indicate the UE a QoS flow to DRB mapping by means of the reflective mapping, otherwise, the RDI will be set to 0. When the gNB confirms that the UE has received the new mapping successfully by means of the reflective mapping, the gNB will change the RDI to 0 for the subsequent packets of this QoS flow. However, the UE still needs to read the DL SDAP header of all the SDAP PDUs in this DRB, e.g. to obtain the RQI or RDI of other QoS flows in the same DRB. 
The UE’s burden and power consumption of reading the SDAP header can be reduced only when the DL SDAP header is absent. However, according to the previous agreements in RAN2 AH1801: The SDAP header presence of a DRB cannot be changed.  Release and add is required, the presence of SDAP header of one DRB will not be changed only due to the change of the RDI value, e.g. from 1 to 0.
Based on the above analysis, we don’t see any benefits mentioned in [2].
Observation1: There will be no benefit for UE complexity and power consumption when the RDI is switched to 0.
· How the gNB to confirm the receipt of RDI in UE?
The gNB needs to know whether the UE has received the RDI of one QoS flow within one DRB in order to toggle the RDI for this QoS flow.
· Scenario1: Currently no ongoing UL packets of the QoS flow
In this scenario, the gNB will not receive UL packets of this QoS flow immediately after sending the RDI=1 to the UE. To ensure the reliability, the gNB can send multiple DL packets (e.g. N continuous packets) where the RDI is set to 1 to the UE and after that the RDI will be set to 0. It depends on the implementation of gNB to set an appropriate value for N, e.g. based on the status report of PDCP/RLC PDUs. In our understanding, it is a rare case that each packets in the N continuous packets fails in the transmission.
Observation2: The gNB can just send multiple RDIs which are set to 1 to UE without ACK when no ongoing UL packets of the QoS flow.
If the gNB receives the UL packets with the same QFI after a long time in the default DRB (mapping configuration scenario) or the old DRB (QoS flow remapping scenario), then the gNB can judge that the UE did not receive the mapping successfully. The gNB should try again until it receives the UL packets with same QFI in the new DRB. The gNB should switch the RDI to 0 for this QoS flow in DL after the ACK confirmation.
· Scenario2: There are ongoing UL packets of the QoS flow

In this scenario, the gNB can judge whether the UE has received the instruction in no time by checking whether the UL packets with same QFI are from the new DRB or not after sending the DL packets with RDI=1 to UE. 
If the gNB doesn’t receive UL packets with same QFI in the new DRB but receives UL packets with same QFI in the default DRB (mapping configuration) or the old DRB (remapping), it can judge that the UE did not receive the RDI successfully. The gNB should try again until it receives the UL packets with same QFI in the new DRB. The gNB should switch the RDI to 0 for this QoS flow in DL after the ACK confirmation.
Observation3: The gNB can confirm the receipt of RDI according to the received UL packets using the new QoS flow to DRB mapping.
Upon the above the discussions, the need of ACK mechanism for RDI mentioned in [3] does not exist. So we propose that：
Observation4: The gNB can confirm the receipt of RDI in UE by its implementation.

Proposa1: The ACK mechanism for RDI is not needed.
3 Conclusion

In this contribution, we discuss the issues on the need of ACK mechanism for RDI. In particular, we have the following proposal:
Observation1: There will be no benefit for UE complexity and power consumption when the RDI is switched to 0.
Observation2: The gNB can just send multiple RDIs which are set to 1 to UE without ACK when no ongoing UL packets of the QoS flow.
Observation3: The gNB can confirm the receipt of RDI according to the received UL packets using the new QoS flow to DRB mapping.

Observation4: The gNB can confirm the receipt of RDI in UE by its implementation.

Proposa1: The ACK mechanism for RDI is not needed.
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